6 5 4 3 2 l 1
PARTS LIST
147.00 mm [5,787 in] ITEM|QTY|  PART NUMBER DESCRIPTION
’ 6 | 2 |M5300102 Front Panel Seal
7 2 |M5300112 Base Panel Seal
g 8 1 |M5301102 Base Panel
9 | 12 |M3 pull up insert M3 Insert
<2 (. ©- 10 | 20 |M3 x 12 mm CSK Screw |Fixing Screws
@ 10 | 20 |M3 x 12 mm Torx Screw |Fixing Screws
_ | 132.50 mm [5,217 in] 11 | 4 |Non slip foot Rubber Feet
25.00 mm [0,984 in] T | 12 | 1 |M5300025 Sub Assembly
B < |
— ] |
= _ _ =2 AD‘
= 2 = \‘M
~| 9 ‘ £ |
| o = |
2 E | 8
& o ‘ — |
gl - E==1 ! ==3 |
S| B —— | E &
Sv ] \l oﬁ ***** e
= _ 1=
170.00 mm [6,693 in]
A-A
3.30 mm [0,130 in]
A — -
=) 1 1 i =) S
- o X > £
B < ) =3
< 3 : _E g o
XN % = g | — L A ! £ E g S
el o - O | | = 5 S s| 8
o N oV — — *® =
£ € % AT £
) £ _ E 9 149.00 mm [5.866 in]
N 200.00 mm [7,874 in] 2 147.00 mm [5,787 in] S
— _ ¥ 172.00 mm [6,771 in]
200.00 mm [7,874 in]
FIRST ANGLE PROJECTION
Designed by Description Date Scale

Notes: Case comes fully assembled,
Drawing not completely to first angle projection.

L Clark

Unidesk M200 Black, RAL 9005

16/07/2012

METCASE ENCLOSURES

15 Brunel Way, Segensworth East, Fareham,
Hampshire, UK. PO15 5TX

MET www.metcase.com

Part Number

Issue Sheet

© OKW Enclosures Ltd (Date as shown). This drawing contains proprietary information of OKW Enclosures Ltd and is tendered subject to the following conditions. The information . M 5320 109
be retained in confidence, not be reproduced or copied, and not be used or incorporated in any product, unless permission is obtained in writing from OKW Enclosures Ltd. Tel: +44 (0)1489 583858 Email: metcase@okw.co.uk 2 1 / 1




